Chemistry 251 Problem Set due Monday November 26th at the beginning of class November 16, 2012 Dr. Fantini

Name: SB#:
*** This is to be done individually; see page 8 for details. ***
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FINAL 3 PAGES ARE TO BE
COPIED HERE!
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All work is to be done
individually. You can use
textbooks, notes, and resources on
the internet. You may post
questions and responses on the
Piazza website. ONLY TURN IN

Complete the following schemes,
giving either the product or reagent,
as indicated. Write answers for your
benefit right in the schemes, but
TRANSFER your answers for grading
onto the grid on the first page,
matching each answer box with the
same number in the schemes.
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